

H-F vekt

UKM 2023
T.16.5. -1

$$1.1. \frac{dE_d}{dd} = \frac{d}{dd} \langle \psi | H_d | \psi \rangle = \left(\frac{d\langle \psi |}{dd} \right) H_d | \psi \rangle + \langle \psi | H_d \frac{d|\psi\rangle}{dd} + \langle \psi | \left(\frac{dH_d}{dd} \right) | \psi \rangle$$

$$= \frac{d\langle \psi |}{dd} E_d | \psi \rangle + \langle \psi | E_d \frac{d|\psi\rangle}{dd} + \langle \psi | \frac{dH_d}{dd} | \psi \rangle$$

$$= E_d \frac{d}{dd} \underbrace{\langle \psi | \psi \rangle}_1 + \langle \psi | \frac{dH_d}{dd} | \psi \rangle = \langle \psi | \frac{dH_d}{dd} | \psi \rangle$$

1.2. LHO:

$$E = \hbar\omega \left(n + \frac{1}{2} \right) \quad H = \frac{p^2}{2m} + \frac{1}{2} m\omega^2 x^2$$

$$\frac{dE}{d\omega} = \hbar \left(n + \frac{1}{2} \right)$$

$$\frac{dH}{d\omega} = m\omega x^2 = \frac{1}{2} m\omega \frac{\hbar}{m\omega} (a^2 + a^{\dagger 2} + 2ata + 1)$$

$$1.3 \quad x = \frac{x_0}{\sqrt{2}} (a + a^\dagger) \quad x^2 = \frac{x_0^2}{2} (a + a^\dagger)(a + a^\dagger) = \frac{x_0^2}{2} (a^2 + a^{\dagger 2} + 2ata + 1)$$

$$\frac{dE}{d\omega}: \langle 0 | \hbar \left(\hat{n} + \frac{1}{2} \right) | 0 \rangle = \hbar \left(\hat{n} + \frac{1}{2} \right)$$

$$\frac{dE}{d\omega}: \frac{1}{\sqrt{2}} (\langle 0 | + \langle 1 |) \hbar \left(\hat{n} + \frac{1}{2} \right) \left[\frac{1}{\sqrt{2}} (|0\rangle + |1\rangle) \right] = \frac{\hbar}{\sqrt{2}} (\langle 0 | + \langle 1 |) \left(\frac{1}{2} |0\rangle + \frac{3}{2} |1\rangle \right) = \frac{\hbar}{2} \left(\frac{1}{2} + \frac{3}{2} \right) = \hbar$$

$$\frac{1}{\sqrt{2}} (\langle 0 | + \langle 2 |) \hbar \left(\hat{n} + \frac{1}{2} \right) \left[\frac{1}{\sqrt{2}} (|0\rangle + |2\rangle) \right] =$$

$$= \frac{\hbar}{2} (\langle 0 | + \langle 2 |) \left(\frac{1}{2} |0\rangle + \frac{5}{2} |2\rangle \right) = \frac{\hbar}{2} \left(\frac{1}{2} + \frac{5}{2} \right) = \frac{3}{2} \hbar$$

$$\frac{dH}{d\omega} = \frac{1}{2} \hbar (a^2 + a^{\dagger 2} + 2ata + 1)$$

$$\langle 0 | \frac{1}{2} \hbar (a^2 + a^{\dagger 2} + 2ata + 1) | 0 \rangle = \frac{1}{2} \hbar \langle 0 | \hat{n} | 0 \rangle = \frac{1}{2} \hbar$$

$$\frac{1}{\sqrt{2}} (\langle 0 | + \langle 1 |) \frac{1}{2} \hbar (a^2 + a^{\dagger 2} + 2ata + 1) \frac{1}{\sqrt{2}} (|0\rangle + |1\rangle) = \frac{\hbar}{4} [\langle 0 | (|0\rangle + \langle 1 | 2ata + |1\rangle)] = \frac{\hbar}{4} [1 + 3] = \hbar \quad \text{OK}$$

$$\frac{1}{\sqrt{2}} (\langle 0 | + \langle 2 |) \frac{1}{2} \hbar (a^2 + a^{\dagger 2} + 2ata + 1) \frac{1}{\sqrt{2}} (|0\rangle + |2\rangle) = \frac{1}{4} [\langle 0 | (|0\rangle + \langle 2 | 2ata + |2\rangle) + \langle 0 | a^2 | 2 \rangle + \langle 2 | a^{\dagger 2} | 0 \rangle] =$$

$$= \frac{1}{4} [1 + 5 + \sqrt{2} + \sqrt{2}] = \frac{3}{2} + \frac{\sqrt{2}}{2} \quad \text{not OK}$$

2.1. $\langle \frac{\partial A}{\partial t} \rangle = 0$

$\hat{A} = \hat{x} \hat{p}$ ← \hat{x} ani \hat{p} nu e \hat{a} se rezolvinsej \hat{e}

UICM 2023

T16.5.-2.

2.2. $[\hat{p}^2, x \hat{p}] = \frac{d(A)}{dt} \leftarrow$ analizeaza fiecare termen separat $e^{-i\hat{H}t} \cdot e^{i\hat{H}t} = 1$

$$[x, \hat{p}] = i\hbar = (\hat{p}\hat{x} - \hat{x}\hat{p} + \hat{x}\hat{p} - \hat{p}\hat{x})\hat{p}$$

$$= \hat{p}[\hat{p}, x] + [\hat{p}, x]\hat{p}$$

$$= -2i\hbar \hat{p}^2$$

$$[x^2, x \hat{p}] = x x x \hat{p} - x \hat{p} x x = x(x x \hat{p} - x \hat{p} x + x \hat{p} x - \hat{p} x x)$$

$$= x^2[x, \hat{p}] + x[x, \hat{p}]x = 2i\hbar x^2$$

$$H = \frac{\hat{p}^2}{2m} + \frac{1}{2} m \omega^2 x^2$$

2.3 $[\hat{H}, x \hat{p}] = \frac{1}{2m} [\hat{p}^2, x \hat{p}] + \frac{1}{2} m \omega^2 [x^2, x \hat{p}] =$

$$= \frac{1}{2m} (-2i\hbar \hat{p}^2) + \frac{1}{2} m \omega^2 2i\hbar x^2$$

$$= -i\hbar \frac{\hat{p}^2}{m} + i\hbar m \omega^2 x^2 = -i\hbar \left(\frac{\hat{p}^2}{m} - m \omega^2 x^2 \right)$$

$$x \frac{d}{dt} \left(\frac{1}{2} x^2 \right) = x \cdot 2x = 2x^2$$

2.4. $p^2 = \frac{\sqrt{2m\omega}}{\sqrt{2}} i(a^\dagger - a)$

$$p^2 = \frac{\hbar m \omega}{2} (-1) [a^{\dagger 2} + a^2 - a^\dagger a - a a^\dagger] = -\frac{\hbar m \omega}{2} [a^{\dagger 2} + a^2 - 2a^\dagger a - 1]$$

$$\langle 0 | p^2 | 0 \rangle = \frac{\hbar m \omega}{2} \langle 0 | 2a^\dagger a + 1 | 0 \rangle = \frac{\hbar m \omega}{2} \rightarrow \left(\frac{p^2}{2m} \right) = \frac{\hbar \omega}{4}$$

$$\langle 0 | x^2 | 0 \rangle = \frac{d^2}{2} \langle 0 | a^2 + a^{\dagger 2} + 2a^\dagger a + 1 | 0 \rangle = \frac{d^2}{2} \quad (\hbar m \omega^2 x^2) = \frac{d^2}{2} m \omega^2$$

$$\frac{1}{2} (\langle 0 | + \langle 2 |) p^2 (|0\rangle + |2\rangle) = \frac{1}{2} (\langle 0 | + \langle 2 |) \frac{\hbar m \omega}{2} (-a^{\dagger 2} - a^2 + 2a^\dagger a + 1) (|0\rangle + |2\rangle)$$

$$= \frac{\hbar m \omega}{4} (\langle 0 | - \langle 2 |) (-2a^\dagger a + 1) (|0\rangle + |2\rangle) + \langle 0 | 1 | 0 \rangle$$

$$= \frac{\hbar m \omega}{4} (-\sqrt{2} - \sqrt{2} + 5 + 1) = \frac{3 - \sqrt{2}}{2} \hbar m \omega$$

$$\frac{1}{2} (\langle 0 | + \langle 2 |) x^2 (|0\rangle + |2\rangle) = \frac{1}{2} (\langle 0 | + \langle 2 |) \frac{d^2}{2} (a^2 + a^{\dagger 2} + 2a^\dagger a + 1) (|2\rangle + |0\rangle)$$

$$= \frac{d^2}{4} (\langle 0 | a^{\dagger 2} | 2 \rangle + \langle 2 | a^{\dagger 2} | 0 \rangle + \langle 2 | 2a^\dagger a + 1 | 2 \rangle + \langle 0 | 1 | 0 \rangle)$$

$$= \frac{d^2}{4} (\sqrt{2} + \sqrt{2} + 5 + 1) = \frac{3 + \sqrt{2}}{2} d^2$$

$$2 \left(\frac{p^2}{2m} \right) = \left(\frac{3 - \sqrt{2}}{2} \hbar \omega \right) \neq (m \omega^2 x^2) = \frac{3 + \sqrt{2}}{2} \frac{m \omega^2 \hbar}{m \omega} = \frac{3 + \sqrt{2}}{2} \hbar \omega$$